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SECTION A

Answer ALL the questions in this section.

Name two types of hypabyssal rocks. (2 marks)
(@) The diagram below shows intrusive volcanic features.
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Name the features marked E, F and G. (3 marks)
b) Name two active volcanoes in Kenya. (2 marks
3 (a) Give three processes in the hydrological cycle. (3 marks)
(4 marks)

(b)

State four factors that facilitate deposition in rivers.

4(a) Explain two reasons why wind is the dominant agent of erosion in arid areas. (4 marks)

(b)Identify two features formed as a result of wind deposition in arid areas.

5 (a)Describe podzolization as a process of leaching.

(b)State three ways in which mulching helps in soil conservation.

(2 marks)

(2 marks)

(3 marks)



SECTION B
Answer question 6 and any other TWO questions from this section.
6 Study the map of Migwani 1:50,000 (sheet 151/1) provided and answer the following questions.
@ @ Give the longitudinal extent of the area covered by the map. (2 marks)

(i)  What is the magnetic variation of the map? (1 mark)

(i)  Give the six-figure grid reference for the junction of the roads D503 and D507.
(2 marks)
by (@O Using a vertical scale of 1 cm to represent 100 metres, draw a cross section along the line
marked J-K. (4 marks)
(i)  Onit, mark and label the following:

« footpath; . (2 mark)
* road (1 mark)
 water pipeline; . (1 mark)
* steep slope. . (2 mark)

(i)  Calculate the vertical exaggeration of the cross-section. (2 marks)
(c) Citing evidence from the map, give three economic activities carried out in the area
covered by the map. (6 marks)
(d) Explain how relief has influenced the distribution of settlement in the area covered by
the map. (4 marks)

7 (a) 0] Describe the solar system. (2 marks)

(i)  The local time at Manaul 60°W is 11.30 a.m. What is the time in Nairobi 37°E?
(3 marks)

() (@ State five characteristics of the mantle in the interior structure of the earth.
(5 marks)
(i)  Outline the evidence which support the theory of continental drift. (4 marks)

(c)  The diagram below represents the revolution of the earth.
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(1) Name the solstice marked P. (2 mark)
(1 mark)

Identify the season represented in the region marked Q.

(i)
(iii)

With the aid of a well labelled diagram, describe the occurrence of the solar eclipse.
(6 marks)

Describe the climatic conditions in Europe when the Earth is in position R.
(3 mark)

(d)

8.The map below shows some climatic regions of Kenya. Use it to answer question (a).

Lake Turkana

Lake Victona
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(@) () Name the climatic regions marked X and Y. (2 marks)

(i)  State three characteristics of the climatic region marked Z. (3 marks)
(b) Explain how each of the following factors influence climate:

()  Altitude; (4 marks)

(i)  Ocean currents. (4 marks)

(c) What are the negative effects of climate change on physical environment? (6 marks)

(d) Students visited a weather station to study recording of weather elements.

0] State three qualities in the construction of a Stevenson screen they would have
observed during the study. (3 marks)

(i) Identify three types of data they are likely to have collected during the study.(3 marks)

9 @ (@ Name two types of submerged highland coasts. (2 marks)
(i)  Identify two resultant features of submerged highland coasts. (2 marks)
(b)  State three factors influencing deposition by ocean waves (3 marks)

(c)  With the aid of labelled diagrams describe the formation of the following coastal features:

(1) Fringing reef; (5 marks)

(i)  Spit. (5 marks)
(d)  Explain the significance of oceans to human activities. (8 marks)

10 @ (@) Name two mountains in East Africa which are ice capped. (2 marks).
(i)  Identify three ways in which ice moves. (3 marks)
(b)  Describe the formation of the following glacial features: .
(1) Hanging valley; (6 marks)
(i)  Pyramidal peak. (6 marks)

(c)  You are required to carry out a field study on erosional features in glaciated lowland area.

0] Give two reasons why you would require a working schedule. (2 marks)



(i)  Name three erosional features you are likely to observe during the field study.(3 marks)

(i)  Give three follow-up activities you would undertake after the field study. (3 marks)
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SECTION A: (25 marks)
Answer all the questions in this section.

1. (@) Give two uses of diamond. (2 marks)
(b) Identify three problems facing diamond mining in South Africa. (3 marks)
2. (a) Apart from coniferous forests, name two other types of natural forests. (2 marks)

(b)  State three characteristics of coniferous forests which favour their exploitation.(3 marks)

3. Use the map of East Africa below to answer question (a).

(@  Name the game reserves marked P. Q and R. (3 marks)

(b)  State two factors which influence the distribution of wildlife in East Africa. (2 marks)

4. (a) Give two reasons why Geothermal power has not been fully exploited in Kenya.(2 marks)

(b)  State three causes of the energy crisis in the world. (3 marks)
5. (a) Identify the two types of internal trade. (2 marks)

(b)  Give three factors that limit trade among the member states of the common market for
Eastern and Southern Africa (COMESA). (3 marks)



SECTION B: (75 marks)
Answer question 6 and any other two questions in this section.

6 Study the photograph below and use it to answer question (a)

(@) (i) Identify the type of photograph shown above. (1 mark)

(i) Name the type of settlement shown on the photograph. (2 mark)

(iif) What time of the day was the photograph taken? (1 mark)

(iv) Draw a rectangle measuring 15 cm by 10 cm. On it, sketch and label five

human features shown on the photograph. (6 marks)
(b) Explain four economic factors that influence settlement. (8 marks)
c) Describe four negative effects of urbanization. (8 marks)
7.(@) Explain three social factors that influence agriculture. (6 marks)

(b)) (@ Describe the cultivation of oil palm from land preparation to harvesting.(7 marks)
(i)  Give three uses of palm oil in Nigeria. (3 marks)
(c) Explain three reasons why horticultural farming is encouraged in Kenya. (6 marks)

(d)  Give three factors which favours beef farming in the Nyika plateau. (3 marks)



8. (a) Explain four ways in which land is being rehabilitated in Kenya. (8 marks)

by O State two ways in which the salinity of the polders is reduced in The Netherlands.
(2 marks)

(i)  Explain four ways in which the Zuyder Zee project benefits The Netherlands.
(8 marks)

(c)  You intend to carry out a field study on irrigation farming in Mwea Tebere Irrigation Scheme:

(i) Identify the two types of hypotheses you would develop for the study. (2 marks)
(i) Name three crops, grown in the scheme that you are likely to identify. (3 marks)
(i) Give two reasons why you need to sample the area of study. (2 marks)
9.(a) Define the term fishing. (2 marks)
(b)  Explain two ways in which each of the following factors negatively affects fishing in Kenya.
(1) Agricultural activities. (4 marks)
(i)  Water weeds. (4 marks)

(c) Use the map of North-West Atlantic fishing ground to answer questions (c)(ii) and (iii).

Canada

Atlantic
Ocean

(i) Give three types of fish species caught in the North-West Atlantic fishing ground. (3 marks)
(i)  Name the Ocean currents marked M and N. (2 marks)

(i)  Explain two ways in which the convergence of Ocean currents marked M and N
influence fishing. (4 marks)



(d) Give three differences between fishing in Kenya and Japan. (6 marks)

10 (a) What is environmental management? (2 marks)
(b) (i) Explain four negative effects of floods. (8 marks)
(i)  State two measures being taken to control lightning. (2 marks)

(c) Explain the significance of conserving the environment. (8 marks)

(d) Your Geography class carried out a field work on floods along a river.
0] Name two types of field work they could have used. (2 marks)

(i)  Give three advantages of studying floods through field work. (3 marks)
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- SECTION A

_Name two types of hypahyssal rocks,

~ Dolente

- Porphyry

- Diabase

- Lamprophyte

- Porphyrite. . :
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(2)

(b)

The diagram below.shoywssdninusivexelonicfeatures.
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Name the features marked

E - Asill
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Name two active volcanoes in Kenya,

- Longonot
- Teleki
- Lakaiyu/ Likasu

- Buswa
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(a)  Give three processes in the hydrological cycle.
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{b)  State four factors that fadhl&tc Bépésmomb;?mwrs

/¢ Reduction in river gmdxcr@&‘) dccrrasedtheve locity of water”
~ Freezing of river wateYleads 1o embedments of the load in the | ice.
- River entering a La,rge/walcr body/rednces the speed of the river fiow.
/~ Presence of ob,s_mglw on the river course which blocks some of the load.
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{a)  Explain two reasons why wind-is the dominant agent of erosion in arid sreas.

! *.
- The areas have scanty/ no vcgclauo?( wtnch gg‘s the land to erosron‘/E
- The areas experience strong tropical wiad ﬁ-uch erode the materials & i

- The areas have dry unconsolidated soils/ materials which are easily eroded!
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(2)  Describe podzolization as a process of leaching, -
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(b)  State three ways in which mulching helps in soil conservation.

. - Plant materials used decompose increasing soil humuos.

- It protects the soil against ercsion.
- It helps 1o increase infiltration rate of waler into the 50i) | cwdmdmectar
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SECTION B

Study the map of Migwanj (1:50 000) sheet 151/1 provided and answer the. following
questions:

(a) (1) Give the longitudinal extent of the areg covered by the map.
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(i) What is the magnetic variation of the map?” - ’
(i) Give the six figure grid reference for the Junction of the rosds D503 and D307,
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b)) @ Using a vertical scale of 1 ¢m to represent 100 metras, draw a crose section

along the line marked J- K.

(i)  Owitmark andiabel the following:

- footpath (1 mark)

- oad - (1 mark)

- water pipeline (1 marlk}

- steep siope (1 mark)
Features

Heolpath (1 mark)
Roed (1 mark)
Witer pipeline (1 mark)
Steep slope

(1 mark)






W) ~ealchiste the vertical‘-e."(hg'geraﬁon of the cross section
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{d) Explain how relief has influenced the distribution ofsett]ement in the area covered by

the map. '

_G_;r?\og. o b

U € N wﬂwﬁm

I 2.syn, planetsitfﬁrfgﬁﬁffcg :

ggg;-: £l s semteal Gk L, g
= mech %\AQ‘CQ} %\&.u 5 R -‘& N L%y e -
" The local mneatM‘anau 60°Wi51]303m What:sthc tmeu:Vairobs37°E"

SIER

=

()

Ve

= The difference in longitde is 60 + 37 = 9 97° &
«1°= 4 minutes

9T = (07 x"i)hf
v
= 6 hrs 28 mins 4



Time'in Nairobi = 1130
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(b) () State five characteristics of the mantle in tuc suterior structure of the earth,

= - The mantle is divided into two parts mmy/(he upper mantlc and the lower

mantle. .
- Tt is abott 2900 kom thick.” 3 "

- The average density is between 3.0 - 4% gm/cm?

~- The upper mante has 2 lower :emperature than the lower. mantle / 'i_co_&‘C-

"" ‘
- The upper mantle is in semi-solid state” Vit st 7 2hee
- The lower mantie is cém‘pcsed of rocks in hqwd state.

- The dominant minerals are iron and magnesium f -cho WaRGAsLwe S, @J
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Time in Mairobi = 1130
- 1028
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() () State fiye characteristics of the mantle i tue suerior structure of the earth. ;
|

- The mantle is divided into two parts maaiy/thc upper mantle and the lower

 mantle. . :
- Itis aboﬁl 2900 km thick.” 7.3 b
- The average density is between 3.0 - 48 gm/em’
- The vpper mantle has a lower xcmperature than the lower mantle / icoe e-

- t -
The upper mantle is in semi-solid state?” istausFatd 7 23ede
- The lower mantie is coz,npoqed of rocks in higuid state.
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{c) The diagram below represents the revolution of the earth,

Equatoer
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(i) ~ Identify the season represented in the region marked Q.

- High remperayreiiie-esperics

- There are long: twuésaEs
- Fhere is precipiz
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(d) With the aid of 2 wel Iabelled diagram, describe the o?ﬂrrence;a{ﬂ;ggauj@pg@m, :

oen 1 s#iemie o the-garth and the
"o.r} g carth’s surface, s

250
ast .

el

. o Pepwmbrg

Text “Tmarks

Lt

Diagram—21nmarks

Sk o~ e oF )

|



The map below shows some climatic regions of Kenya. Use il to answer question (a).
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{b} Explain hgw each of the following factors influence climate.

Gy - Alttude.

e e
* Arrposphetic pressineds ﬁagh

is because the weight of aUAE benc“m s
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- The temperature is higher at low ahm.dqbe 3 1s heav.cd-Qom below ‘5\

and not directly from the sun. QNX
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3 currents

Jshg_r_q__w__ds blowing over a warm occan current are warmed and Ltpoh)
saching the coastland they causc 8 warming &ffect. &

Onshore winds. blowing over cold ocean currents aré cooled and onyreaching the
adjacent coastland they cause a cooling cffect. o ‘
Onshore winds blowing over warm ocean CurTEnNts are warmed absorbmg more -
water vapour and on rqachmg the adjacent coastland rwﬂt lcxmcxmsed T
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(d)  Students visited a weather station to study recording of weather elements,

(i) - State three qualities In the constructicn of a stevenson screen they would have
observed ¢ during the study.

- Itis a wooden box"/ T

- It is zaised on snhs‘f placed on a stand, abou! 121 cm above the ground leve].

- It is painted white’

- = It has a double roof/
- The sides are Icuvrcd{;o allow free circulation of a.u)
‘ Aoy xt—a—3rmmarks)

(ii)  ldentfy three f)rps of data they are likely tolmsgg{ Zollected dfnl'ing the study.

Types of wcath :ccofmo nStrumeisss 7
Statistical dau/ prevxous wea rccords ~_ s s R . _
Diagrams/ photogxaphs on 1nstruments, ¢

- Information on weather forccasgg& | ..
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- Longimdinal] Miuv«&&..c._
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: o ' Aay-Z-rt-o2marks)
(ii)  Identily two xwultant features of !he mergt'_d lzxgl%lg.nd c Qg§§
R ezl Wew Sl '
- Raised cliffs
- R;used wave gl
(b}  State three factors xnﬁuencmg dep&zﬁbnby ocean waves.
- The existenee of gentle sibpii\’g_sﬁcre. .
- Presence of shallow weter along the coasthne.
- The occurrence of 2 strong swash and weak backwash] Con Rl N
- Theexistence of indented coastline. i
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) Fringing reef.

1‘1 i5. formed wrzen.aoral polyps stz 3
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= With the aid of labelled diagrams describe the formation of the following coastal fearurss.
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- Depressions
- Crag and tai
- Ice eroded plain
- Roche maptonge

Gi)  Give three follow-up activities you would undertake after the field st

- Skelching the [eatuses.
- Note making/ writing field reports.
As Cog £ Answering questions/ quiz.
-« Discussing the findings. !

- Meustingsamples/ dxsplay pﬁ)otographs
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SECTION A
Answer ALL the guestions in this section. (25 marks)
Give two uses of diamond.

- Formakingjewellery”
- For polishing metals/. Ve

z Formalcin,gcunin%_ ts. - . (Any 2 x 1 = marks)

Tdenti problems facing dismond mining jn South Africa.

- Fluctuation of prices in the world markct

- Low mineral content in the ore ;

- High cost of nnnmglxxoccssmg/isu? TS

- Reduocing/deplcting reserves - .

- Co '&ion of skilled labour with other sectors of the economy.

- et e .“’V‘G B (Any3x 1'= 3 marks)

Apart from comfcrons fo"csts, name twe other types of natural fo'\:sts oo :
—QW‘OK—‘ ‘I" “9\? - ’i""S,“w- o\ li'suaw Pty ark

'I\-opucal hardwood for%ts,/ ool Sogiclons - '"'\‘o,?';".: ,'*':f 5 ok
n&gandwood fomsts/ﬁmv«'a Wty T SO T g
e’«vn\-co/ W

m/ 2x1= 2maxks)
%en "\&'W\'I P"‘h

_ State t.hrec charactensucs of coniferous fomts whicix favour their explojtation.

llll

- Thc tressare. hght in weight. 7 — Tees oreSw{f-
B The trees occur in pure stand -
- There is little uudergrowth/ R wk
The trees have straight trunk : (Any.3 x 1 =3 marks)
B . W

i Q.;g mg Q g:fl_-lgg Afgg below to anggzer question (a),




-

*(@) Name the game reserves marked P, G and R.

P - Bokora
Q - ‘Boni
R - Selous (3 x 1 =3 marks)
{(b)  State two factors which istriboti ildlife in East Africa.
- Vegetation variation/distribution inffuences the type of wild animald/birds found
in an area.
- . Drainage of an area infinences the dnsmbl_uon/populanon of different types of
species of pian‘slammalsfbuds
- * Human activities conserve/destroy wildlife habitats/wildlife mﬂ encmg the . -
population/distribution.
- The soi! of a place determi t life which influence wild animals/birds,
- The different types of chmn? ence the distribution/type of plants/animals/
i 4'3.5351 Laak w& e comeranf ¢ frvopsted v I Goner e
- Smeriea ,;,:&‘g:‘ﬁ\‘i‘&"“”; &%%/ amﬁmks)
e velrg
() .Gn_:mmmnq wer has he een fully exploited i

I

- The coumxy faces a s‘zortage of capital/inadequate capital required forexplmiabon
- There is shortage of skilled personnel as the country relies on expatriates.
- The country faces low level of tcchno‘ogy which hinders exploitation of the

energy.
- Most of the potential sites are found in remote/inaccessible areas wlnch makes
it difficult/expensive.
@x 1,= 2 mazks)
(b). i causes of enerpy crisis in the woild
- There isa hzgh demand for oi,

- There 2re embargoes/controls oil il production by the oil prodacing ul‘"“‘“es
- There is de-regulation of ox]«p?%eess by the suppliers,

- There is uneqal natural pattern of crude oil occurrence.

- There is political instability/wars in some of the oil producing countries. |

(Any3x1‘ 3msrks)

(a) . Jdentify the two types of internal trade.
- Retail Gade.

4 Wholesale trade %
(2x1=2 marks)

AUSS
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[6) B Give three factors that limii trade among the méber states of the Common Market for

‘Eastern and Southern Africa

-

@ O

-
Poor%nggn{:rc)lows/dchys movement of goods/services. -
Difference in tariffs/custom duties hinders rading activities.
Difference in currency shakes trapsactions difficult.
Production of similar/duplication of goods limits trade. .
Different levels of industrial development creates imbalance in trade.:
Movement bariers limit free movement 6f people/goods/services.
Bigecot W=\ Agloges, (Any 3 x 1'=3 marks)
wm\ \7\2""’9\‘\‘5' m&eam’f& { G{“\ Waey . ' .

SECTIONB
Anwer questicn 6 and other T gusstions from this section.
otograph below gnd use it fo & estion {a).
Identify the of above.

Ground general view/ Ghawiedl - qve

(i  Name the type of settlement shown on the photograph.

(D)

Informal scnlemm%/ w‘bﬂm \ S\ueen -
‘What time of the day was the photograph taken. '
Afternoon / O VR TR (1 mark)

Gv) ~ Draw arectangle measuring 15 cmby 10 cm.- On i, sketch g\_nd lg!ggi ve

hum atures wn op_the i

" Flood light Flood light

—5ilos

Telephone
= lme

& House

/Emtelouse




s

- Drawing a rectangle correctly - Telcghone posi (1 mar)
+ Roads T = Wall >

- Houg;;sT -— LT

- Silos/ \aw\s Ko

Z Flood lights/@ednT sdes /o™ St | s

- Telephone line -

- Fences =~ .

- Planted trees. (Any 5x 1 = 5§ marks) :

®)  Explain four economic factors that influencs settlenent.
Fhing / veilor peane [ Bhla lseanls .
o g/ e ol

Total =6 marks

‘ attracts workers who settle gear the mine fields,
Trade leads to éavelopment of market centres thereby atfracting many people.
Industrialisation leads to creation of jobs hence encoura ing many people to live
near industries. = ' GoueX S ;
Transportatj Its to gg:i&sibih't}' of scwic&{xhus‘ attracting more settlement.
Agricuhure/{) 4410 siting of collection centres hence deyelopment of urban
centrel/ wam adforea ity -
Adminisiration provides security thereby enconraging settiement.

’&'ﬁa;enh b (pds?' . '-‘h__h'"m"‘ wd'""‘}" (Any 4 x 2 = 8 marks)

©:. Mﬁmmm

(a)

Inadequatg/housing leads to development of slums/shanties in urban centres.

There is traffic congestion in asban centres{due to peorly planned rozds/traffic
control systems) .mu(«g G ddu{gozz ’ g
Uncmploymem_ in urban centres leads 10 high crime ratc/ %"“‘M"‘“ ‘
There is pollution in urban centres due in dumping of garbage/disposal of waste

. into drainage systems/noise from vehicles and industries/emission of smoke

from vehicles and industries. :

There is strain on social amenities in wrban centres due to rapid population
growth. . % - )

There are street families in the urban centres due to poverty.

ikl Ertien el A (M?e;hM - (Any 4 x2 =8 marks)

Gender inﬂuehces productivity as the prpducé will depend on effort of the
gender involved., o : Yo

‘Some religious beliefs determine the type of livestock farming sincelthey

discourage rearing of certain animals, .

The culture of a people determines the type of crops grown/livestock kept in
ordet to meet their dietary needs.’ . ,
Land tenure system allows/Timits individuals/communities to nse the availabie
land thus increasing/decreasing produce, ’ '

The interaction between people leads to adoption of new techniques i farming. /a{ e *@‘«EQ:

C\-?.S' (Any3x|2=§1na: s}
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(L) Describe the cultvation of oil palm from land preparation to harvesting.

The holes are dug with cnqg of 9m x 9m.
The soeg\qg are lanted from the npursery into the holes.

- Weedin@/sprayingis done regulaily to prow;t the plants against sease,
The maturing trees flower/bear fruits aﬁcr%ee "wg"‘ mge— °f t
The mature/ripe fruits are harvested using a cuwcd l:mfe/

Vol o

7x 1 7 marks)
(i)  Give three uses of palm oil.
- Asa cleansmg agmt in the un industry. - “'\"\\‘"‘6 g‘”’a&e—s POk
- daldng wine gy et s
- ‘Making margarine/cooking fat o 6«\“—@“’"‘“"8
= Making 0% — ek as Lot
= ket .;’: e e = (Any 3x 1 =3 marks)
(<) Explam thxcc TCASONS why horticultural fanning is cncouzgged in Kenxa.
: ~ Toeam ex. gﬁxch help to improve the econom‘}g
- To create employment wlnch enabjes pcoplé earn income hence imprave theix
living standards.

To provide raw materials which support the development of related industries.
To enable farmers with small pieces of land eam high income.

2 X0V Vo food e: inthe eounE_y‘ ﬂxmby cnsnnng food security.

o».es- A 5/( sAny 3x2=6 mark&s).
(D Gwc three factors which favours beef fapming in the Nyika plateau. k‘"‘

Presence of watering p wm% il /

There are large tracks of-ﬂaﬂm@m o

The local who kee F )g_xestﬁk ir occupanon

‘The eﬁﬁ&; dmon o e ma'fmgﬁ)ccf cattle keeping

- There are ranching schemes which control grazmg/spreadmg of diseases/pests.
{Any 3 x 1 =3 marks)

(a) Facpla.m four ways in which land is being rehabilitated in Kenva. "//

- By filling open pxtsfland scaping in order to be used for farming/setdement
- By constructing terraces thereby reducing the speed of surface ruuofff Sol @Phen
- By plantmg trees on degraded land thereby profectmg it against the agenis of
€rosion.
- By building gabions in order to hold/trap the soil carried by water.
- By constructing dykes along river bapks/dams across rivers in erder to
control floods: iR
- By depplying manurg/on derelict land in order fo restore its fertility.
- By irrigating serii-arid areas/during dry seasons in order to provide water

requn'cdfmmcrop growih.

- M%Wskswmwmg%n&
- Coukie @\'@@_\.\% Bl e e ﬁ\@ﬁgv..g / RS AN
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(c)

(8)

3

1) State two wavs in whi e salinity of the polders is reduced in the Netherlands.
- Chemicals are applied to lower salts in the soils,

- Fresh water is flashed to the soils to remove/dilute the excess salts.

- Reeds are planted to use up the excess salts.

— cp~\=.-°£«:= v“"“f‘“‘“ﬁ pi—vca-\er Suam W (Any2x1=2 marks)

(i) . Ixplain foor ways in which the Znyder Zee project benefits the Netheslands.

Reclamation has increased the size of the land which is vsed forlfarming/
setilement. ' ' x

- The reciaimed land has increased agriculteral output hence moré food/
raw materials for industries [ == ~ogmet e
Dazuming created a freshwater lake thus improv.(igg the supply f 7§ter

Tor domestic¢/industrial use/ Lev>8ri~g e PPNy

1t has led to employment of many people thus improving their standards
of Living,
It has led to employment of many people thus improving their standards

of iving, A& <
Roadz%ﬁg\ been constructed thus improving transportation.
Reclamation has created sceneries that have become tourists attractions
thereby earning foreign exchange.
St -‘mro:ag\‘:; R T (Any 4 x 2 = 8 marks)
a SRS i

scbgmg ] - X .
(i) Jdentify the two types of hypothesis you would develop for the study.

- Altemaﬁve/su};;tantive/ "%:cc’n\te-

- Null/? » _ »

— 0?00:—&:_ e (2x 1= 2 marks)’
@)  Name three ' '

- Rice ~ ve=doe tedons

- Maize/&cb/ Cotn - OnGse L

- Tomatoes — CGrean ST S

- Beans/gass fiecet Qame, - cee\iec

- Vegetables O marmeacmicn S’

- FPees= - (3 x 1 =3 marks)
(i)  Give reasons why you would sample the ares of study, (2 marks)

- It is a cheaper to study portions of the scheme.

- It saves the amount of time spent on the study.

- 1 brings out the details of the area under study.

- It enables one to make generalised conchision about the area under study,
(2x 1 = 2 marks)

Defive the term fishing.

Ttis the extraction/exploitation of aquatic animals/fish. (2 marks)



fiiy

Agpricultioral activities

- Poor farming methods cause soil erosion thereby leadmw 0 sﬁta‘acn of _ 5,

the lakes/rivers which hinders the movement of fishing vessels/ e o

,

- Ago- ~chemicals used on farms wxre washed into the 'I.«_kes/nvers thus
: polluting the water/kill fish,/ ,E,WW
- Abstraction of water from the river/lakes for uﬂgaﬂon reduces the levci
of the Water thereby Iumtmcr the types of fish species. :
(Any 2x 2 4 ma_rks)

ES

Water weeds

-~ . The growth of the weeds qn the surface of the water ha:rbours dangarous
. apirhal/predators thereby scaring away the fishermen. - ; -

- The weeds growing on the water form a thick bamerfmsulate the water

thereby hindering the amount of sunlight. requn'ed for the growth of
= Pianl{tons
- ' The weeds on the water choke the fishing vessels ﬂms hmdermg zhelz

mDVemsnt/ Camn.f owﬁ’j walE -

C= o eleads Gogelms e r::xz'ﬁan R \E:zx—\ (AnnyZ"’ 4;1131:1{3}_'_.
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(i) Give three types of fish species caught in the North-West Atlantic fishing

_._gm.md._d 3 marks)
Herring ..-ki\,g,.\
'. COd . \\
- Mnckerel
- Haddock ~ i e
- Menhadqp
- Lobseters
- Halibut |
- Hake
- Flounder |
o ;ﬁ\*@ ny3xl= 3‘ merks)
(i) . Namethe OCEE currenis marked.
M- Cold Labrador current (1 mark)
M~ Warm Gulf Stream Bgft- (‘a.urm"‘ {1 mark)
(iiy D 1w i e con f ocean currents mar,
Anflnence fishi - Tt (4
= o=

- It causes upwelling of water which increases supply of xygen&’lanldons
required for growth of ﬁsb hence presence of alot éh/rnany spccxes of

fish.
- - The wamm current raises the t—mpcrature of the ocean water malcmg it

ice-free thereby encouraging fishing throughout the year.
- The cold current carries minerals which encourage growth of Planktons
o thie food for fishame— <A\eic “g L=\
- It canses cool conditionsftemperdtures thereby favouring the growth of

Planktons rcqmrcd by fishirares  preseace, g\ e, o/ seom,
TREe (A1y2x7—4matks)

(@) wwwm&
In Kenys there is low lcvcl of techoology/while in %apan there is advanoe!efﬁclcm
technology/ Mmqg;pu\{lm
- In Kenya fishing is done on amall scalc while in Japan fishing is down on large
scale.
“In Kenya there is a sinall domest:c/extemal markel whﬂe in Japan there is la:rge
domestic/external masket. .
- In Kenya few people market their fish through co-operatives while in Japan
' marketing is mainly done through co-operatives. '
- In Kenya fishing is mairily done near the continental shelf/shallow sea wawrs,'/ |
while in J2pan fishing it is mainly deep sea fishing.
- in Kenya fishermen face stiff competition from foreigners while in Japan there

is little competition from foreigners. -
34 Ha Veoera T owe ol NonSedes q—x- {Any 3 x 2 =6 marks)

Worin € T w=pedies - . f
- R s »@km\ﬂwu\m&@w&\w%“
o '-gﬁ — VST coe T -\:a«(eﬁj T‘nrnoya'
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